
www.encoderhohner.com   -   info@encoderhohner.com   -   Tel.: (00 34) 972 16 00 17 1

ANTI-ROTATION SYSTEM
FLEXIBLE ANTI-ROTATION SYSTEM

Code Appropriate series Fixation screws

90.1014 19, 50H, 59, 59S, PR90H 5 M4 x 6 DIN912, DIN84

90.1018 19, 50H, 59, 59S, PR90H, E58HS, E58HM, SMRS19, SMRS59, SMRS59S 3 M4 x 6 DIN912, DIN84

90.1020 19, 50H, 59, 59S, PR90H, 64, E58HS, E58HM, SMRS19, SMRS59, SMRS59S 3 M4 x 6 DIN912, DIN84

90.1024 19, 50H, 59, 59S, PR90H, 64, E58HS, E58HM, SMRS19, SMRS59, SMRS59S 3 M4 x 6 DIN912, DIN84

90.1025 77, 80 5 M4 x 6 DIN912, DIN84

90.1026 64 3 M4 x 6 DIN912, 3 M4 DIN127

90.1027 19, 59, 59S, PR90H, 64, 64S, 66, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 4 M3 x 6 DIN7985, 4 M3 DIN127B

90.1036 22, 22H, E36HM, E36HS 2 M2,5 x 5 DIN7985, 2 M2,5 DIN6798A

90.1037 22, 22H, E36HM, E36HS 2 M2,5 x 5 DIN7985, 2 M 2,5 DIN6798A

90.1038 SMRS 64 4 M2,5 x 6 DIN912, 4 M2, 60 DIN127B

90.1039 64, 64S, SMRS64, SMRS64S 2 M3 x 6 DIN912, 2 M3 DIN127B

90.1040 19, 59 -

90.1041 64, 64S, 66, 77, 80 1 M3 x 6 DIN912, 1 M3 DIN127

90.1045 19, 59, 59S, PR90H, 64, 64S, 66, E58HS, E58HM, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 4 M3 x 6 DIN7985, 4 M3 DIN127

90.1046 64, 64S, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 2 M3 x 6 DIN912, 2 M3 DIN127

90.1071 64, 64S, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 2 M3 x 6 DIN7985, 2 M3 DIN127

90.1072 64, 64S, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 2 M3 x 6 DIN7985, 2 M3 DIN127

90.1075 19, 50H, 59, 59S, PR90H, E58HS, E58HM 3 M4 x 6 DIN912, 3 M4 DIN127

90.1076 19, 50H, 59, 59S, PR90H, E58HS, E58HM, SMRS19, SMRS59, SMRS59S 2 M 4 x 6 DIN912, 2 M4 DIN127

90.1083 22, 22H, E36HS, E36HM 2 M2,5 x 5 DIN7985, 2 M 2,5 DIN6798A

90.1086 64, 64S, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 2 M3 x 6 DIN912, 2 M3 DIN127B

90.1095 19, 50H, 59, 59S, PR90H, 64, E58HS, E58HM, SMRS59, SMRS59S 3 M4 x 6 DIN912, 3 M4 DIN127

90.1101 64, 64S 4 M2,5 x 6 DIN912, 4 M2,60 DIN127B

90.1108 80 6 M3 x 6 DIN912, 6 M3 DIN127B

90.1109 77 6 M3 x 6 DIN912, 6 M3 DIN127B

90.1110 50H 2 M2,5 x 5 DIN7985, 2 M2,60 DIN127B

90.1111 22, 22H, E36HM, E36HS 2 M2,5 x 5 DIN7985, 2 M2,5 DIN6798A

90.1116 28, E24HS 3 M1,6 x 5 DIN7985

90.1119 77 6 M3 x 5 DIN912, 6 M3 DIN127B

90.1124 67, 67S 2 M4 x 6 DIN912

90.1129 67, 67S 2 M3x 5 DIN912, 2 M3 DIN127B

90.1132 22M 2 M3x 6 DIN7985, 2 M3 DIN6798A

93.0102085 22, 22H 2 M2,5 x 5 DIN7985, 2 M2,5 DIN6798A

93.0102086 50HI 2 M2,5 x 6 DIN912

93.0102087 22, 22H, E36HS, E36HM 2 M2,5 x 5 DIN7985, 2 M2,5 DIN6798A



www.encoderhohner.com   -   info@encoderhohner.com   -   Tel.: (00 34) 972 16 00 172

Code Appropriate series Fixation screws

ANTI-ROTATION SYSTEM
FLEXIBLE ANTI-ROTATION SYSTEM

93.0102090 19, 59, 59S, PR90H, E58HS, E58HM 4 M3x6 DIN7985, 4 M3 DIN127B

93.0102094 28 2 M 2 x 4 DIN912

93.0102112 22M 2 M3 x 5 DIN912, 2 M3 DIN127B

93.0102145 22, 22H, E36HS, E36HM 2 M 2,5 x 5 DIN7958, 2 M2,5 DIN6798A

93.0102150 22, 22H, E36HS, E36HM 2 M 2,5 x 5 DIN7958, 2 M2,5 DIN6798A

90.1014

90.1020

90.1025

90.1018

90.1024

90.1026



www.encoderhohner.com   -   info@encoderhohner.com   -   Tel.: (00 34) 972 16 00 17 3

90.1027

90.1037

90.1039

90.1041

90.1036

90.1038

90.1040

90.1045

ANTI-ROTATION SYSTEM
FLEXIBLE ANTI-ROTATION SYSTEM



www.encoderhohner.com   -   info@encoderhohner.com   -   Tel.: (00 34) 972 16 00 174

ANTI-ROTATION SYSTEM
FLEXIBLE ANTI-ROTATION SYSTEM

90.1046

90.1072

90.1076

90.1086

90.1071

90.1075

90.1083

90.1095



www.encoderhohner.com   -   info@encoderhohner.com   -   Tel.: (00 34) 972 16 00 17 5

ANTI-ROTATION SYSTEM
FLEXIBLE ANTI-ROTATION SYSTEM

90.1108

90.1110

90.1116

90.1124

90.1101

90.1109

90.1111

90.1119



www.encoderhohner.com   -   info@encoderhohner.com   -   Tel.: (00 34) 972 16 00 176

ANTI-ROTATION SYSTEM
FLEXIBLE ANTI-ROTATION SYSTEM

90.1132

93.0102086

93.0102090

93.0102112

90.1129

93.0102085

93.0102087

93.0102094



www.encoderhohner.com   -   info@encoderhohner.com   -   Tel.: (00 34) 972 16 00 17 7

ANTI-ROTATION SYSTEM
FLEXIBLE ANTI-ROTATION SYSTEM

93.010215093.0102145

FL
E_

EN
_0

1 
  0

6/
24

   
Su

bj
ec

t t
o 

er
ro

rs
 a

nd
 c

ha
ng

es
.

A
ll 

rig
ht

s 
re

se
rv

ed
 ©

 H
oh

ne
r 

A
ut

om
at

io
n 

SL


